Lemma 4.3 (Dreieckslemma)

A B,CeZ(G),A+# B,C~!

()b e A= ab € C,ac’ € B

(i) b € A,d't € C = d'd €B
a

B C

C < b

A

Satz 4.1 A € 7(G), F transitive
Orientierung von G
— FNA=Aoder FNA= A"

Satz 4.7
(i) G Vergleichbarkeitsgraph
& (i) ANA~=0,A € Z(G)
& (iii) ¥V G-Zerlegung By, ..., By]
gilt B;,NB; ' =0,ic [K]

G-Zerlegung By, ..., By]
oE=B+ -+ B
o B, GI(Bi+"'+Bk),i c [k]

Satz 4.4 A € 7(G)
= A=A"1oder AN A=t =0
und A, A= transitiv

Regenbogendreieck {a b, c}

.bceA acEB abc C
oA, B,C € I(QG) verschieden

A

Satz 4.6 A€ I(G),D € I(E — A)
(i) D € I(G) und A € Z(E — D)

oder (i) D=B+C, A, B,C in
Regenbogendreieck




